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Do all density problems on 2 separate sheet of paper and show all work.

1)Abxockofahminmnompim§omm 0£15.0.mL and weighs 40.5 g. What is its

density?
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" 2) Mercury metal is poured into a graduated cylinder that holds exactly 22.5 mL. The
mercury used to fill the cylinder weighs 306.0 g. From this information, calculate the

density of mercury.
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3) What is the weight of the cthyl aloohol that exactly fills a 200.0 mL container? The
density of ethyl alcobol is 0.789 g/mL. e
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4) A rectangular block of copper metal weighs 1896 . The dimensions of the block are
8.4 cm by 5.5 cm by 4.6 cm. From this data, what is the density of copper?
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) A flask that weighs 345.8 g is filled with 225 mL of carbon .
of the flask and carbon tetrachloride is found to be 703.55 g. Fm ﬁ The weight
calculate the density of carbon tetrachloride. rmation,
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7) Find the mass of 250.0 mL of benzene. 'I‘bcdensxtyofbenzenc308765g/ml.

Mz DRV = 0.8765 glmL X 250mL ,@

8) A block of lead has dimensions of 4.50 cm by 5.20 cm by 6.00 cm. The block weighs
1587 g. From this information, calculate the density of lead.
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9) 28.5 g of iron shot is added to a graduated cylinder containing 45.50 mL of water. The
- wata‘levelmcstothe@ lOmLmark, From this information, calculate the density of
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;g);;/bat volume of sﬂver metal will welgh omactly 2500.0 g. The density of silver is
cm’,
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